MCR 3U9 Semester 1, 2015 - 2016 **Grade 11 AP Mathematics Unit 3 – Solving Polynomial Equations and Inequalities** a dappling deplay of Mr. N. Nolfi APP TIPS **KU** COM 11 di 14/14 mo 16/16 16/16 **/D/10** Victim: mathematical mastery **1.** Consider the quintic polynomial function $p(x) = 4x^5 + 32x^2$. (a) *Fully* factor the polynomial. (3 KU) (b) Use the factored form of the polynomial to sketch the graph of y = p(x). (4 KU) $p(x) = 4x^{5} + 32x^{4}$ $4x^{5}+3ax^{2}$ sum of cul = $4x^{2}(x^{3}+8) = (x+y)(x^{2}-x)$ 50 40 = $4x^2(x+2)(x^2-2x+4)$ cannot factor Further (6-4e 30 20 10zero | multiplicity -2 20 0 (c) Use the factored form to solve the (d) Use the factored form and the graph to solve the inequality equation $4x^5 + 32x^2 = 0$. (3 KU) $4x^5 + 32x^2 \ge 0$. State the solution set using both set notation and interval notation. (6 KU) $(x^{2}(x+a)(x^{2}-a)(x+4)=0$ $4_{\chi^2(\chi+2)(\chi^2-2\chi+4)} \ge 0$: $4\chi^2 = 0$ or $\chi + 2 = 0$ or $\chi^2 - 2\chi + 4 = 0$ For all $\chi \in \mathbb{R}$, $4\chi^2 \ge 0$ and $\chi^2 - 2\chi + 4 > 0$ $\therefore x=0 \text{ or } x=-2$: only x+2 affects the sign of p(x): $p(x) \ge 0$ when x+2 > 0Solution SXER127 $\chi \geq -\lambda$ We can see this graphically by noting that the graph is at or [-2,∞ above the x-axis only when x>2 2. Solve the polynomial inequality $-2(x-4)^2(x+3) \le 0$. State the solution set using both set notation and interval notation. In addition, include a graph that clearly shows the solution set. (6 APP) Let $f(x) = -\partial(x-4)^2(x+3)$ - f(x) $f(-4) = -2(-4-4)^{2}(-4+3) > 0$ Test $f(0) = -2(0-4)^{2}(0+3) < 0$ Point $f(5) = -2(5-4)^{2}(5+3) < 0$ Solution Set KU APP TIPS COM {x < R x >-3} -0 - 0 - 0 - 🔿 $[-3,\infty)$

3. Solve the polynomial equation
$$x^{1} - 13x^{2} + 14x = 88$$

shows the solutions of the equation. (10 APP)
 $x^{3} - 13x^{2} + 14x = -88$
 $\therefore x^{3} - 13x^{2} + 14x = 88 = 0$
Let $p(x) = x^{3} - 13x^{2} + 14x + 88 = 0$
Let $p(x) = x^{3} - 13x^{2} + 14x + 88 = 0$
Let $p(x) = x^{3} - 13x^{2} + 14x + 88 = 0$
Let $p(x) = x^{3} - 13x^{2} + 14x + 88 = 0$
Let $p(x) = x^{3} - 13x^{2} + 14x + 88 = 0$
 $x^{2} - 15x^{14} + 14x + 88 = 0$
Let $p(x) = x^{3} - 13x^{2} + 14x + 88 = 0$
Let $p(x) = x^{3} - 13x^{2} + 14x + 88 = 0$
Let $p(x) = x^{3} - 13x^{2} + 14x + 88 = 0$
Let $p(x) = x^{3} - 13x^{2} + 14x + 88 = 0$
Let $p(x) = x^{3} - 13x^{2} + 14x + 88 = 0$
Let $p(x) = x^{3} - 13x^{2} + 14x + 88 = 0$
Let $p(x) = x^{3} - 13x^{2} + 14x + 88 = 0$
Let $p(x) = x^{3} - 13x^{2} + 14x + 88 = 0$
Let $p(x) = x^{3} - 13x^{2} + 14x + 88 = 0$
Let $p(x) = x^{3} - 13x^{2} + 14x + 88 = 0$
Let $p(x) = x^{3} - 13x^{2} + 14x + 88 = 0$
Let $p(x) = x^{3} - 13x^{2} + 14x + 88 = 0$
Let $p(x) = x^{3} - 13x^{2} + 14x + 88 = 0$
Let $p(x) = x^{3} - 13x^{2} + 14x + 88 = 0$
Let $p(x) = x^{3} - 13x^{3} + 14x + 88 = 0$
Let $p(x) = x^{3} - 13x^{3} + 14x + 88 = 0$
Let $p(x) = x^{3} - 13x^{3} + 14x + 88 = 0$
Let $p(x) = x^{3} - 13x^{3} + 14x + 88 = 0$
Let $p(x) = x^{3} - 13x^{3} + 14x + 88 = 0$
Let $p(x) = x^{3} - 13x^{3} + 14x + 88 = 0$
Let $p(x) = 0$, then $x + 2x = 0$ or $x - 1 = 0$
Let $p(x) = 0$, then $x + 2x = 0$ or $x - 1 = 0$
Let $p(x) = 0$ or $x - 1 = 0$
Let $p(x) = 0$ or $x - 1 = 0$
Let $p(x) = 0$ or $x - 1 = 0$
Let $p(x) = 0$ or $x - 1 = 0$
Let $p(x) = 0$ or $x - 1 = 0$
Let $p(x) = 0$ or $x - 1 = 0$
Let $p(x) = 0$ or $x - 1 = 0$
Let $p(x) = 0$ or $x - 1 = 0$
Let $p(x) = 0$ or $x - 1 = 0$
Let $p(x) = 0$ or $x - 1 = 0$
Let $p(x) = 0$ or $x - 1 = 0$
Let $p(x) = 0$ or $x - 1 = 0$
Let $p(x) = 0$ or $x - 1 = 0$
Let $p(x) = 0$ or $x - 1 = 0$
Let $p(x) = 0$ or $x - 1 = 0$
Let $p(x) = 0$ or $x - 1 = 0$
Let $p(x) = 0$ or $x - 1 = 0$
Let $p(x) = 0$ or $x - 1 = 0$
Let $p(x) = 0$ or $x - 1 = 0$
Let $p(x) = 0$ or